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Choose the correct answer from a ,b ,c or d.

1- We oo the museum tomorrow . Do you want to come with us?

a) can’t visit b) are going to visit C) visit d) must visit
2, she seen a lion before?

a) Has b) Do c) Have d) Are
3-He is not hungry because he has............ had dinner.

a) ever b) already C) yet d) never

4-Thousands of
a) tourists

............. come to Egypt every year.

b) towers C) tours d) tourism

5-1 enjoyed the show because it was................

a) frightened b) excited c) boring d) amazing
6-we builtalotof ............. to solve the traffic problem.
a) bridges b) factories ¢) schools d) airports
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Choose the correct answer from a ,b ,c or d.

1-Tused........... to get the book from the upper shelf.

a) ladder b) stairs c) alarm d) stars
2-1 gave her some .................. to wash her hands.

a) oil b) fat C) soap d) soup

3-Doing very well means you are .............

a) bad b) successful ¢) boring d) frightened
4-Mum has................ to the shops.

a) gone b) go C) goes d) went
S5-I visited Aswan ............ a holiday.

a) for b) at c)in d) of
6-They built a new house three month.............. .

a) when b) since C) ago d) in
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Choose the correct answer from a ,b ,c or d.

1-1 went to a restaurant ................... the river.

a. with b. by c.at d. for

2- Every year, Scientists make important ............... in medicine.

a. news b. discoveries c. find d. roads
3-How ............. is it from the work to the airport? 7 kilometers.

a. much b. tall C. many d. far
4-T.oooiii.il. to Alexandria next summer.

a. will travel b. would travel C. going to travel d. raveling
S means very modern.

a. Safe b. Helpful c. Friendly d. Recent
6- Youridea ................ nice. I liked it.

a. sounded b. accepted c. showed d. started
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